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Arrange the data in order 
of lowest to highest. 

Compute: n*
100
k

L 





=     

 n = number of scores 
 k = percentile in  
        question 
 

         Is  L  
a whole  

number? 

The value of the kth percentile is 
midway between the Lth score and 
the next higher score in the original 
set of data.  Find Pk by adding the  

Lth score and the next higher score 
and dividing the total by two. 

 

Change L by 
rounding it up to the 

next larger whole 
number. 

 

The value of Pk is the 
Lth score, starting with 

the lowest. 


